Chapter 19: The French Revolution and Napoleon – Lesson 1

The Causes of the Revolution

Opening the Lesson:

1. The French Revolution is considered one of the most significant and influential events in Western Civilization and possibly the most important event of the revolutionary age 1760-1848. The role of France in this period was decisive; without French intervention our revolution would have collapsed.

2. The French Revolution occurred in the country that was the center of the Enlightenment; its books were read everywhere; its fashions, language, etc. were copied by everyone.

3. But was it the most advanced country of its day?

a. The power position of France was shrinking as England emerged; English commerce, manufacturing, and agriculture seemed healthier, and their science and technology seemed more advanced.

b. The French aristocracy admired the English constitution because the English aristocracy were both rich and politically powerful.

c. The French philosophes admired the ease with which English businessmen joined the aristocracy.

4. In ten years, 1789-99, revolutionaries accomplished three things:

a. eliminated the French monarchy

b. overturned the social system of the Old regime

c. transformed France’s religious institutions

5. Underlying these changes was the spirit of the Revolution summarized by its slogan: “Liberty, Equality, Fraternity”

6. The news of the Revolution spread fear and hope throughout Europe, and then, by force of arms, the French carried the ideas of the revolution beyond its borders.

7. What were the underlying causes of the Revolution?

a. the monarchy

b. the government structure and its inability to deal with problems

c. the class structure

Developing the Lesson:

I: Introduction: The Underlying Causes of the Revolution

A. The Monarchy

1. Louis XVI  r.1774-1792

a. Grandson of Louis XV –“Oh my god what misfortune! Oh my god help me!” – he felt entirely inadequate to rule

b. He was justified in his feelings; dull, not too bright, enjoyed hunting and fixing clocks (the text says locks)

c. Married at 16 in 1770 to Marie Antoinette who was 15; they were betrothed when only babies to seal the alliance

2. Marie Antoinette

a. Youngest child of Maria Theresa and not liked by the French because of the alliance which led to the French defeat in the Seven Years’ War
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b. Lacked common sense, extravagant, not too bright

B. The Government

1. The intendants ran much of France

a. The intendants were gov’t. officials created by Richelieu to oversee the administration of local government – police, taxes, etc.

b. Many were highly efficient but could do little to “slow the disintegration of the central government”

2. The central government

a. The king’s decrees were considered law

b. The Estates General had not met since 1614

3. The judicial system

a. There were 237 law codes

b. There were no juries and the king could arrest and imprison at will

c. The parlements – courts

1) Consisted of judges in 13 districts

2) They had all purchased or inherited their position

3) Were all members of the nobility which meant no commoner could obtain a judgment against a noble

C. Class Structure

1. Everyone belonged to three distinct groups or estates; the clergy, the nobility, and the commoners

2. These categories were important to one’s rights and prestige, but these categories were obsolete because they no longer corresponded to one’s property, wealth, productive activity, or, in some cases, influence 

3. There was jealousy and anger among the Estates; particularly among the bourgeoisie and also on the part of the nobles of the sword vs. nobles of the robe

II. The Clergy and Nobility

A. The First Estate: the Clergy

1. They made up .5% (100,000 out of 24m) of the population and were divided into two groups

a. The upper clergy 

1) They were bishops and abbots who came from the nobility

2) They were looked upon as parasites by the lower clergy and the commoners

b. The lower clergy – parish priests

1) They came from the commoners

2) They struggled and were generally popular among the people

2. What advantages/powers did the clergy have?

a. Controlled 10-15% of the land – the best lands

b. From lands, tithes and fees they enjoyed an income half as large as the government

c. Controlled all education and censored the press
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d. Monopolized all public worship and continued to harass other religious groups

e. Were exempt from taxation

B. The Second Estate – the Nobles

1. They numbered about 2% (400,000) of the population and were enjoying some resurgence of power since Louis XIV

2. Therre was the Nobility of the Sword (hereditary nobles) and the Nobility of the Robe (those who had purchased their position)

3. What advantages/powers did the nobility have?

a. controlled the parlements

b. Controlled 20% of the land

c. Paid no taxes and blocked all efforts to tax

d. Held almost all high government posts

III. The Third Estate 

A. The Commoners

1. They made up 97% of the population

2. Peasants, urban wage earners, bourgeoisie

B. The Bourgeoisie

1. They were the middle class professionals (doctors, lawyers, teachers), businessmen, and artisans
2. Many were much wealthier than those of the nobility

3. They resented their second class status, the fact that they were snubbed, and were frustrated by the fact that many positions were closed to them

C. The Peasants

1. They were the landed and the tenants 

2. Most lived in villages in houses that generally consisted of one room, dirt floor, no windows with livestock

3. Their diet consisted of bread and wine with meat only on special occasions

4. They resented the required Church tithes, the corvee which required them to work so many days on public works, and the fees owed to the nobility for hunting rights, use of flour mills, etc. which were leftovers from the Middle Ages – these fees supported the nobility

5. Taxes, taxes and more taxes which bore heaviest on them; they were not as concerned with political rights as they were with taxes, fees, and obligations

6. Their methods of farming were backward which often created food shortages in a country that was basically overpopulated in relation to the amount of food the country produced

D. The Urban Working Class

1. This was a small class of people throughout the country, but in Paris they were large enough to make a difference

2. They would be in the forefront of the riots, etc. during the revolution
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IV. The Financial Emergency 1774-1788

A. The Financial Problems of France

1. The financial problems facing France can be considered the immediate cause of the Revolution

2. What were the problems?

a. First, was the national debt which had tripled between 1774 and 1789 due to the war costs and upkeep of the army and navy

1) Only 5% of expenditures was devoted to the upkeep of the monarchy

2) The debt was only half as great as Britain and less than the Dutch, yet it could not be carried

a) revenues fell short of meeting expenditures

b) lack revenues was not due to nation’s poverty but to tax exemptions, evasions, and fact that the government never received what was actually collected

b. Secondly, inflation caused the price of bread to triple; doubled in the spring of 1789 partly due to bad harvests

c. Thirdly, bankers refused to grant any new credit to the government

B. Assembly of Notables

1. Was convened by Louis in 1787 and consisted of nobles and clergy

2. Louis tried to persuade them to consent to be taxed; a general property tax without exemption

3. They refused and demanded that the Estates-General be summoned for the first time since 1614

4. Louis, with his government brought to a standstill agreed to convene the Estates General in May, 1789

5. This was the beginning of the Revolution and it was initiated by the nobility by forcing the summoning of the Estates General

IV. The Estates General 1789

A. Electing the Estates General

1. All males 25 years old and who paid taxes in the third Estate were allowed to vote

2. All members elected to represent the Third Estate were from the bourgeoisie

B. Organization of the Estates General

1. Each estate received equal voting power and each estate debated and voted as a single body 

2. There were 300 representatives of the clergy, 300 of the nobles and 600 of the commoners

3. The consent of two estates and of the King was required to pass a measure
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C. The Change from the Estates General to the National Assembly: How did it occur?

1. Class antagonisms poisoned the Revolution from the beginning

2. The representatives in the Third Estate demanded that each member get a single vote

3. The E.G. haggled over the above point for six weeks, May 5-June 17

4. On June 17, with the support of some from the First and Second Estates, the Third Estate declared itself to be the National Assembly

5. On June 20, when the members of the Third Estate arrived at their meeting hall at Versailles, they found it locked. Louis, under pressure from nobles had ordered it closed

6. The Third Estate then assembled on an indoor tennis court resulting in the Tennis Court Oath

7. The Tennis court Oath

a. They took an oath not to disband until they wrote a constitution 

b. It was an act of defiance directed at the king and was a revolutionary step because it assumed power for a body that had no legal authority

8. On June 23 the king met with the three estates and directed them to meet and deliberate individually. He then walked out along with the first two estates, but the third remained seated. When they were reminded of the king’s orders they refused to obey

9. On June 27 the king failed to enforce his order that the three estates meet individually and allowed the Assembly to remain in being; the E.G. was no more.

Concluding the Lesson:

1. What had happened?

a. The king, in the dispute between the nobles and the commoners, had chosen the nobles

b. For centuries the French monarchy had drawn support from the bourgeoisie against the nobility

c. In 1789 the king failed assert himself; he lost control of the E.G. and offered no program until it was too late; he failed to make use of the loyalty to himself felt by the commoners; he yielded to his wife and the Court nobles

d. The commoners did not want the aristocracy to control the government

